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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(b)
(c)

(b)

(c)

(b)

(b)

(2) Marks are indicated on right side.

Explain Total Revenue Curve and state its uses. 10

Explain Elasticity of demand. S

Explain Market Equilibrium. 5
OR

The demand function of a commodity is x=20-2p. 7

Find the elasticity of demand when p = 5.

Find the equilibrium price and quantity for demand function 7

4p +3x=22 and supply function 5p—2x=16.

For the demand function p=30—2x find the marginal 6

revenue at x = 4.

What is monopoly? Give the conditions for maximum profit 10

from it.
Explain the production function and elasticity of 10
productivity.
OR
The demand function of a monopolist is x=400-2p 10
2

and cost function is C = ;C—O+ 6x . How many units should

be produces to get maximum profit?

If the production function is Z = 20—1—l and the cost 10

Xy

of x, y, z are 4, 9, 16 respectively per unit then find the
maximum profit.
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Explain the concept of utility function and budget equation.
State its assumptions.

OR
(a) The utility function of a consumer is U = 2x? + Sxy - y2

and budget function is x +3y =8. Find quantities x and y
such that the consumer gets maximum satisfaction.
(b) State and prove Euler’s theorem for nth degree

homogeneous production function.

(a) Explain assumptions of Input-Output analysis.
(b) Explain input and output analysis for two industries.

OR

Technical coefficient matrix for two industries is given below :
A B

A10.2 0.3
B|04 0.1
Find the total production for each industry for final demand are

50 and 50 respectively.
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